Seat No. Enrolment No.:

Gujarat Technological University

Diploma Engineering C to D Bridge Course Examination

Subject Code: C300005 Date: 12-01-2017
Subject Name: Basic Physics
Time: 02:30 PM TO 04:00 PM Total Marks: 70

Instructions:

1.

g~ W

No.

Attempt all questions.

Make suitable assumption wherever necessary.

Each question is of 1 mark.

Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)

English version is authentic.

Question Text and Option. U#l el (AscAl.
Which of the following is not the unit of energy?

A. Joule B. Nm
C. Watt D. KWH
ol AeottHiell 52 Gosloll AsH oSl ?

Ayt B. Nm
C. de D. KWH

When as impurity is doped into an intrinsic semiconductor, the conductivity of the
semiconductor:

A. Increases B.  Decreases

C. Becomes zero D. Remains constant

2UR SodllAS( BcAdldd ) WdalssHl WY GRRAUML WA R Utdcssall
cAeSl

A ql® B w2 ®

C. ot aa ® D wun 22 ®

On increasing the reverse bias voltage to a large value in a p-n junction diode, the
current:

A. Increases slowly B. Remains constant

C.  Suddenly increases D. Decreases slowly

p-n os2lol SLASHI Radl ol dleRwe] Yet Wol dulRdl, dlesyas -
A IR LN af B B wam 28 ®

C. uylets ad B D. oA LA u2 ®

An electric generator is based on the principle of :

A. Ohm’s law B.  Variation in magnetic flux due to

rotation of armature coil in the region
of magnetic field
C. Variation of electric flux across  D.  Chemical energy conversion to

the armature coil electrical energy
BASELS wol2R oll Rtlict UR sl 53 B
A QeHell Ran B. o3 &stell Qacirul wuluR
slcell UWReHRl Yolda sl
312 AA O
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10.

0.

C. il Asaul Qgd setet D 2aa@@s ale] @y asani

olEAlA B 3UAR
Unit of Intensity of magnetic field is
A. N/A B. Tesla
C. Wb D. All of above
Joulsa Astoll ldctiall AsH 8.
A.  NIA B. 3
C. Qu D Gurell ottt %
Electron volt is a unit of
A. Charge B.  Potential difference
C. Energy D. Magnetic Force
SAsel cllce ol ASH B
A Qe B. [Agct RAQHLta ctslald
C. D yudla s
How many significant figures are present in the number 10,4507
A. Three B. Four
C. Five D.  Two

10450 Hi Aels vislel dval sedl 82

A g B. 2

C. i D a

Derived units are best defined as

A. units containing an exponent B.  measurements made using electronic
such as m? equipment

C. measurements based on a non- D. combinations of two or more basic
metric system measurements

Ul AsH AeA......

A Ra AsA 3 FHi Ulcis Sl B. Qo] Hiust @525 ultuelloll HeE
BU 5 m? sAML AUAA sl

C. (@ot-gatia vt u2 2tlBt - D A ¥ Aell cud Aslof Aot
HUot

There are 20 divisions in 1 cm of the main scale. The vernier scale has 10 divisions.
The least count of the instrument is

A. 0.05cm B. 0.5cm

C. 5.0cm D. 0.005cm

As Altotall Yuat Bt UR As AleHles1l 20 (Aewdl s 8. dell o0l BA
UR 10 (Aewdt 8. A Austell Ay MUl Al
A. 0.05cm B. 05cm

C. 50cm D. 0.005cm

Which one of the following units is a fundamental unit?

A.  Watt B.  Ampere

C. joule/sec D. Newton

(1A Ul 58 Yoot elllAs 2l &2

A e B. aar

C. oxaAses D jeat
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11.

9.

12.

.

13.

3.

14.

Y.

15.

Q.

16.

6.

17.

9.

Which one of the following is the unit of energy?

A. Newton B. N/sec

C. N-sec D.  Hertz

ol At el 52 Glasioll WsH B?

A yzel B jedt/As0s

C. Ryeet-Asos D. g8

107 can also be written as

A. 0.00005 B.  0.000005

C. 0.0005 D. 0.50000

105 & uul cull asta.

A. 0.00005 B. 0.000005

C. 0.0005 D. 0.50000

A sweater will end up with a negative charge when it

A. loses electrons B.  loses protons

C. gains protons D. gains electrons
As W2 UR R (el @ ad B »=UR A

A BAsglet oHIA B B qldlet opd ®
C. Qi A B D.  gAsdet A ®

The electrons in a metal sphere can be made to move by placing a charged object near it. This
process is called

A.  Friction B. Induction

C. Grounding D. Contact

A5 Uldell SNOUHL éAl BAS2atal , Aoll ollayHi QR uelel Avieuell
UAA 53 asla & — ul Ylsaa 58 ©

A udal VT

C. uGesleatl D flse

To give an electrically neutral object a positive charge, you must

A. add electrons to it B.  remove electrons from it

C. add protons to it D. remove protons from it

[QglQa derel ueldal uot [QeetlRd sal M2

A Qul 8As2ed GRRal W B. Quuell 8Qs2let g s2all U3
C. Al Wdlet GARel ud D Quuell WAlet g2 scl ud
If 15 C charge passes a point in a circuit in 5.0 s, the current in the circuit is

A. T75A B. 15A

C. 3A D. 5A

% 15 C Qe As blg WA 5.0 s 1l UAR Al sl A, A uRuaHi
@Qaycte AR Al &l

A. T5A B. 15A

C. 3A D. 5A

Kirchoff's first law is also known as,

A.  Law of current B. Law of voltage

C. Law of energy D. Law of resistance

(520 5ol Udcll (Ao oll (oM 3% uwL 2O B
A [Qesyclsetl @Ran B.  dic@ustl Aan

C. Gl Ran D ucuett Qan
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18.

.

19.

c.

20.

0.

21.

1.

22.

.

23.

If ten 9.0-V sources are connected in series, the total potential difference in the circuit will be

A. 9V B. 90V

C. 1l11v D. 900

%l €4 9.0 V ol Actal ARMHL s A A QuRuasdl s
[AsRA[AHLto dAsleldd L.

A 9V B. 90V

C. 1l1v D. 901

The phenomenon of electromagnetic induction is

A. The process of generating B.  The process of charging a body

magnetic field due to a
current passing through a

coil.

C. Producing induced currentin  D.  The process of rotating a coil of an
a coil due to relative motion electric motor.
between a magnet and the
coil.

[Aesfouslat YRutell Rvuic

A ojuouHl [Qesycls uR B, yeldal @QaeulRd s2ausll ylbau
sclll josla st Geus
sclle(l ulsau

C. YJus ual Slscd el wdat D s@sdls derell Sscda uRenal
Aol 512 WRA @Qesycus sctelto(l ylBau

Geur scllell ulsal
The rate of flow of an electric charge is known as :

A.  electric potential B. electric conductance
C. electric current D. Resistance
(QosetlRetl adelloll €24 58 ®

A Qyd Rt B, [Ayct cuesdl

C (@Qyd yas D, uadu

The amount of work done in joules, when one unit electric charge moves from one
point to another point in an electric circuit is called :

A. electric current B. electric resistance
C. electric conductance D. potential difference
[QosuRuani, AsH st [Qoretral As (gl ollost (g Yol AeS ol 12
sall UScl sl (yeHl) o 58 9.

A [Qgd yaus B, (Qgd Ry

C. (Agct cussdl D (g Gt
The relation between potential difference (V) and current (I) is :
A. Val B. Val/l

C. V?al D. Val

Qg RAQMLet (v) ua (Agcd Yclls (I) el ot

A. Val B. Val/l

C. V?al D. Val

The obstruction offered by material of conductor to the passage of electric current is
known as :

A. Resistance B. Conductance

C. Inductance D.  Electric potential

4/12



3.

24,

R¥.

25.

QY.

26.

RS.

217.

V.

28.

RC.

29.

€.

clgsoll el ad ([QAgdycisstt MUl Aajetaldl UsAQR 58 O.

A Rl B. aussdl

C. Yes D. Qg ARt
The number of joules in 1IKWH is

A.  3.6x107 B. 3.6x10°

C. 3.6x10° D. 3.6x10*

1 KWH Hi &cll yctoll dvall

A.  3.6x107 B. 3.6x10°

C. 3.6x10° D. 3.6x10*

Heating of a current carrying conductor is due to
A. Loss of kinetic energy by atoms  B.  Loss of kinetic energy by electrons

C. Attraction between electrons D. Repulsion between electrons ; protons

[Aosycllge] cget 5l cllss JRH U A O

A Rl @Gt oA ® A B 8Asglet sl oUAGe oHLclalell
5120 5120

C. sAsdlodt clRotl visHRlell D 8Asdlodt wl YWeledt Aol
5120 wusyeLetl sial

Formula for electric power is

A. P=VI B. P=VI

C. P=I)V D. P=V/I

BASELS UldRe] YA

A. P=VI B. P=V1I

C. P=I)V D. P=V/I

Kirchoff’s second law is based on the law of conservation of

A. Charge B.  Energy

C. Momentum D. Mass

(32Agell olloal (Aot oll HRelllell (o U wWulRd B.

A @Qydeur B.  Gad

C. Qowtet D. geanot

A circuit contains two un-equal resistances in parallel , then

A.  Current is same in both B.  Large current flows in large resistor

C. Potential difference across each ~ D.  Smaller resistance has smaller
IS same conductance

A5 (AyuRuaHl A WyHIet WARALNA UHIARHL A3l B, A
A ol uull @Qeycte ad ® B et cRunell Aet Qesycuss]
cdgel AUlA &
C. edsul QuRAQMt uMtet Do otlott atloll cutssdl otioll Slat B
aa®

Which of the following about a magnetic field is correct?
A. The unlike magnetic polesrepel B. A magnetic pole can be isolated
C. The magnetic field lines indicate D. A magnetic pole cannot induce

the direction of magnetic force magnetic poles in other materials

Jou(sa Ao w2 ol el g Y B ?
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30.

30.

31.

34.

32.

32.

33.

33.

34.

3%.

35.

A et Yol ydl a B. julda yaa waol 531 asia B
wULsNLL AlA B
Co Julda @ 2wl YolBa D As Yousla yao ad wet uetadli

el (B slcdld ® Yollda Yo YR 531 astal otell
The south pole of the freely suspended magnet points towards ?
A.  Geographical North B.  Geographical South
C. Geographical East D.  Geographical West
As Y5 A deslad Yolsell el ya dRs RAR Al B,
A dlbl@s Gr Yo B, dlol@s el@al ya
C. dlbl@s yd ya D dloi@s u@u yao
Which of the following cannot be used to make a magnet?
A. Cobalt B. Iron
C. Ebonite D. Steel
o{lAsttrtell 520 Ueld Jfus callaal M2 duRldl el ?
A Qe B, Auis
C. Adleuse D. &

As we move away from a current carrying conductor, the spacing between the
magnetic lines of force

A. Decreases B. increases

C. remains at equal distances D. Increases and then decreases
[Qasycie unddl clesdl BH g2 A A Yollda HORVIRA dRe] iR
A w2 B B. q@ ®

C.o ot o2 3 D D et af ® ua ugdl u d

During the verification of Ohm’s law :
A. ammeter and voltmeter should B. ammeter should be connected in series

be connected in series and voltmeter in parallel

C. ammeter should be connected in D. ammeter and voltmeter should be
parallel and voltmeter in series connected in parallel

oMol [AaHe{l ustR(l £121l0t

A Qalle? wa dicedle: B Qale:al Alui wal dice le:a
ARMHL WSl 4 B, AHLARHL Alscunl 2 8.

C. Alera UHIARHL A D. Afler wal diceleral AHidRHL
dlceHleRa ARHL slscunl AlsclHl WA 8.
Al O,

Which of the following is a ferromagnetic substance?

A. Marble B.  Silver

C. Antimony D. Alnico

o{lAotMell 520 3ANXRSs ueled B ?

A uRY B. gl

C. AR D yalsl

No force is experienced by in magnetic field.

A. Steady charge B. Magnet

C.  Current carrying conductor D. Moving charge
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34.

36.

36.

37.

39.

38.

3¢.

39.

3¢C.

40.

¥0.

41.

¥q.

UR Yol(da Axtul et clatd otell.

A @R Qo B, jus

C. yasulRd dess D. ot QeseuR

Value of susceptibility is positive and very large for substances.
A. Peramagnetic B.  Non-—magnetic

C. Diamagnetic D. Ferromagnetic
FARCAEA (51 uelell 1R tot wa vol W8l sl 8.
A QaANRRs B wudla

C. slan=Rs D. ¥2aRs

Relative permeability of diamagnetic substances is

A. Zero B. More than one

C. One D. Less than one

sUAARSs Ueldo(l el uREARAAEL .

A get B- A ofl aur

C. AS D. As Yl 2069

Induced emf in a coil is directly proportional to rate of change of magnetic flux.- this is
known as

A. Lenz’s law B.  Faraday’s second law

C. Orstead’s law D. Joule’s law

SISl WRd Adi emf ofl BHd Slct AA AstuAAL Yoisla sessll
%5101l €0l AHYHIRHL A B. — wllal 58 9.

A Qosell [Ran B, 333l ol R

C. Arsal Aan D xetall Ran

Precision of a measurement depends upon

A.  Least count of the instrument B.  Ontemperature

C. Care of the observer D.  Onthe medium

H(Uotoll AA2cll UR AULUR AW B.

A Uldelell AYtTiH HIU UR B dtustet u?

C. yadsesizell sty u? D e w2

Which of the following instrument is used to measure internal diameter of a cylinder?
A.  Micrometer screw B.  Mater tape

C. Scale D.  Vernier calliper

SlOUSR AEWU cllY Hiucll MR o{lAsttrel 53 Aol cAuRvA D ?
A qssldler B. fle: 2u

C. geud D allar 3@QuR

The heat produced per unit time is directly proportional to the square of the current
passing through the conductor. — This is known as

A. Faraday’s law B.  Kirchoff’s law

C. Joule’s law D. Lenz’slaw

WAL cllesHL AsH AHAHL Gaurt Al Gu, A cllesHidll uAR Udi
losyclisatl colotl AHYHIRHL sl & — ula 58 9.

A 336l Ran B BRallgell Raun

C. el Ran D Qoosell Rant
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42.

¥R.

43.

¥3.

44,

¥Y¥.

45,

¥U.

46.

¥S.

471.

¥9.

48.

¥C.

Electroplating is an example of

A.  Magnetic effect B.  Chemical effect of current

C. Heating effect of current D. Electromagnetic induction
sAsARoL( Uldell dlo Usletallell ylsal) A o GELE B.
A Qaryctsell Yollda wUR B Qaycissl Au2@ls w3
C. (Qaycusell G AR D. [Qjudla Y2wl

1 meter = nanometer

A 10° B. 10°

C. 10° D. 10!

14leR = R CARNEE]

A 10° B. 103

C. 10° D. 10!

Production of nano particles ia made by

A. Lithographic procedure B.  Thermal procedure

C.  High energy procedure D. All of above

Asll 50lo] GeUleat ad a9,

A (@ou(ds uruld B. sl uruld

C. sl Aot el D Gurell oitll

For nano materials, surface area/volume ratio is

A. Verylarge B. Normal

C. Veryless D. Zero

AUl A2A$0/5Ea IJRNHR Aclluelel 12 sla ®.
Ayl AR B auue

C yjo A Do o

When big objects are converted into nano material, their properties get
changed.

A. Optical B. Thermal

C. Magnetic D. Allof above

el weldllal a2 aloelUelddtl 3Uld? sl WA R Aell
oLl wed B.

A ysiQa B. 6™

C Yaulda D Gurell vl o
For conductors, Band gap energy E; =

A. 3eV B. OeV

C. 1eVv D. 0.7eV

aAles UELd HIZ AosAU Aot E, =

A. 3eV B. OeV

C. 1eVv D. 0.7eV

In which type of semiconductor, electron number density (n.) and hole number

density (n,) is the same?

A. Intrinsic semiconductor B. P type semiconductor
C. N type semiconductor D.  Extrinsic semiconductor

sAL UsRoll WHalesHl 8ASel vl Uotcll(n,) Mal Sl dvUl Yotcll(n,)
UMl sl ©?

8/12



49,

¥C.

50.

Yo.

51.

uq.

52.

UR.

53.

u3.

54,

uy.

55.

A Aol wdalss B.  p ysiall wHlales

C. NusRel uddauss D. of3old uticuss

P type semiconductor

A. s positively charged B. Is negatively charged

C. Iselectrically neutral D.  Becomes positively charged at room
temperature

P — UslRoll Atlclles
A et [Qgdeudld Sl B. by @Qgceudld da d

C. (Qycoll a® A et 8 d D 2slell cttuntal tet Qg deudld
o B

Electrical conductivity of semiconductors lies between and di-electrics.

A. Plastic B. Metal

C. Ceramic D. None of above

AR Sss2oll (Agdauss Ua slABAG sl A 8l B,

A wRs B g

C. R@s D. Gureil As uwul ol

At absolute zero temperature , electrical conductivity of semiconductors is

A. Limited B. Verylarge

C. Zero D. Veryless

(A&t 9o dlumlet UR AMssseell [Agdclssdl sl B.

A AR Byl aur

C. got R CEC

There are valence electrons in an intrinsic semiconductor atom.

A 1 B. 2

C. 3 D. 4

SodllAs AMSss2 URHIQM AQ B8AS2U Slal V.

A 1 B. 2

C. 3 D. 4

Boron atom produces energy level in silica crystal.

A.  Acceptor B.  Donner

C. AandB both D. None of above

RAst WRsHl Aot UMY Goic? Gue 52 O,

A QAR B. Qo2

C. Ada B D. Gureil As uul o

Current flows through a semiconductor device when it is connected in series with a
battery. When poles of battery are inverted, current does not flow. Which
semiconductor device is it?

A. P type semiconductor B. N type semiconductor

C. P —Njunction diode D. Intrinsic semiconductor

s WHales AUt A3 WA AQMHL Wlscl AHel ycte ad B. ed Al
gyl Geteldcl axiell yas adcl olell. 4l wdaiss Usll 565 &2

A. p_yslel wHalss B.  N-usRell utlcauss
C. p-Nosalel SIS D.  idold wdass

In forward bias condition , resistance of P-N junction diode is

A. Zero B. Less
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e

56.

us.

S7.

9.

58.

uc.

59.

uc.

60.

SO.

61.

C. Large D. Infinity

slRad ol RAAHL P-N fs3let sllsell WA sl 8.

A e B Q8

C auR D. aeid

In CE transistor amplifier, emmiter junction is biased and collector junction

is biased.

A. Reverse, Forward B.  Forward, Forward

C. Reverse, Reverse D. Forward, Reverse

CE 2le?9eR AT gl2RHL WH 2R '59let ollAY ol 5AS2R 52Ut
wWlaAd RAQHL sl B.

A Rad, slras B, glas, 8§

C. Rad|, Rud D Qraf, Radl

The maximum energy that an electron can possess at absolute zero temperature is

A.  Fermi energy B.  De-Broglie energy

C. Band gap energy D. None of above

(A0t 9o AlUHIA BASR B HetH Gl URAA & Aal

A sl GoA Bl allocll Gt

C. Qos AU Gl D. Guauiell As ual o8l

Sound waves are

A. Longitudinal B. Steady

C. Transverse D. Circular

SAUHL telladell 00 8.

A L B. RAd

C. dodtd D. Sloustz

In dispersion of white light by prism, which colour deviates the most?

A. Violet B. Blue

C. Green D. Red

Qo ad ddi Ad yslalell [QeusetHi s 01l ystel el ay [Qudet wR
8 ?

A ool B. aueddl

C. da D e

Which optical phenomenon is responsible for twinkling of stars ?

A. Reflection B.  Total internal reflection
C.  Atmospheric reflection D.  Atmospheric refraction
dAlRWRAle] 2HeHd Bulal M2 58 YslRla deell SclGlER B?

A wRladst B ygl uidRs urladst
C. aldiazella uadst D ctatarella agleiciet

A slant ray of light when enters to one medium from another medium, it changes

its direction, it is known as

A. Reflection B. Refraction
C. Dispersion D. Total internal reflection
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Sq.

62.

SR.

63.

G3.

64.

S¥.

65.

S\Y.

66.

SS.

67.

SO.

As HIRAHHIYL ollost HIRAHHT ELUEA Ul UsLatell il (30l aue(l (gau
oleccllo(l Yol 53 O,

A wriadet B, asletctet

C.  ([Qeusst D ydl aidRs uzladet
Light is transverse waves- this can be proved only with the phenomenon of
A. Interference B. Diffraction

C. Refraction D. Polarization

Ysl2loll dRO0 AOOld RN 8, A $5c oll deoll ad Ul i 8.
A sl B [Qadat

C. aslecet D. ycletast

Laser radiation is

A. Highly Monochromatic B.  Partially Monochromatic
C. White light D. Polychromatic

AUR SlAat 8.

A ol o AsR0 B et As2all

C. u¥e usial D wg2oll

He — Ne gas laser emits light.

A. Pink B. Red

C. Green D. Orange

He—Ne O QAR 20Lall Yslol AU B,

A ojetdll B aa

C  da D 3dl

Tubelight, electric bulb, candle flame etc are examples of emission of
light.

A. Spontaneous B.  Stimulated

C. Absorption D. Aand B both

uclde, 8asgls aeu, Hlgdlol »ed adR ysiasil GetSatall
GelgRel 8.

A dlRay B lyazs

C. AuAlule D. A ual B ol

An atoms remains in excited state for

A 10° S B. 10®s

C. 1055 D 10%s

Gl cRAUML UMY A Yl @ B.

A. 108 S B 10-8 S

C. 1055 D 10%s

Source of light used for Fiber Optics Communication

A. LEDs B.  Semiconductor lasers

C.  Photo transistors D. BothAandB

SLSOR WRsA SUJAFAAML clURUAL YsLalell Bl

A. LEDs B. algsse: Aual

11/12



68.

SC.

69.

Sc.

70.

90.

C. 24 zieeedd D sidaua s
The most worldwide used optical fibers are

A.  Multi Mode Index Fiber B.  Multi Mode Graded Index Fiber
C. Single Mode Step Index Fiber D.  None of above

gladl Wl ay ymeHl duRldl AR sA $LEuR 8.
Al Hls Bds SLER B el Alls Q35 8eds LR

C. Rbid Qs R¥U 8ds sl D Guanell As uwl o8l
Acceptance angle is maximum when critical angle is

A. Maximum B.  Minimum

C. AorB D. Zero

ol sildslale] yeau Sl dl AARRL SRl HeTH HAL.
A e B ootrint

C. Auya B D 9o

Optical fibers are consisted of

A. Semiconductors B. Di-electrics

C. Metals D. Conductors
AR sAH $LE0R Ueldall saldl sl B.
A ARsssed B sisgAssu
C. ugqg D il

kkhkhkhkhkhhkhkkhkkk
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